FIXED VANE PUMPS

Graphic P max.
SINGLE VANE PUMPS Symbol bar(PSI)
HQ15-11 11.2(.68)
HQ15-14 14.3(.87)
HQ15-17 17.1(1.04)
HQ15-19 19.2(1.17) 250(3600) 1800 131
HQ15-23 23.3(1.42)
HQ15-26 26.1(1.60)
HQ15-31 31.1(1.91) 1500
HQ25-26 26.2(1.61)
HQ25-32 32.1(1.97)
HQ25-38 38.2(2.34) 250(3600)
HQ25-43 43.2(2.64) 1800 131
HQ25-52 52.3(3.19)
HQ25-60 60.2(3.67)
HQ25-65 65.3(3.99) 210(3000)
HQ25-75 75(4.58) 175(2500) 1500
HQ35-60 60.3(3.68)
HQ35-66 66.4(4.05)
HQ35-76 76.3(4.66)
HQ35-82 82.2(5.02) 210(3000)
HQ35-88 88.3(5.39) 1800 132
HQ35-94 94.5(5.77)
HQ35-108 108.2(6.60)
HQ36-116 116.1(7.09)
175(2500)
HQ35-125 124.6(7.60) 1500
LOW NOISE TYPE Graphic CQmT/f;\-/ P max.
SINGLE VANE PUMPS Symbol (U.S.GPM) bar(PSI)
SHQ25-18 18.1(1.10)
SHQ25-22 22.1(1.35)
SHQ25-26 26.2(1.61)
SHQ25-32 32.1(1.97) 250(3600)
SHQ25-38 38.2(2.34) 1800 133
SHQ25-43 43.2(2.64)
SHQ25-52 52.3(3.19)
SHQ25-60 60.2(3.67)
SHQ25-65 65.3(3.99) 210(3000)
SHQ25 SHQ25-75 75(4.58) 175(2500) 1500
SHQ35-60 60.3(3.68)
SHQ35-66 66.4(4.05)
SHQ35-76 76.3(4.66)
SHQ35-82 82.2(5.02) 210(3000)
SHQ35-88 88.3(5.39) 1800 133
SHQ35-94 94.5(5.77)
SHQ35-108 108.2(6.60)
SHQ36-116 116.1(7.09)
175(2500)
SHQ35-125 124.6(7.60) 1500
SHQ45-136 136(8.30)
SHQ45-153 153(9.34)
175(2500) 1800
SHQ45-184 184(11.23) 134
SHQ45-200 201(12.26)
SHQ45-237 237(14.46) 160(2300) 1500

HYSTAR ® system™. Hyking Corp. ©2002




Series No.

15,25
35,45

(S)HQ Series
Fixed Displacement Vane Pump

Normal
Displacement

c.clrev

HQ15:
8,11, 14,
17, 19, 23,
26, 31

(S)HQ25:
18, 22, 26,
32, 38, 43,
47, 52, 60,
65, 75

(S)HQ35:
60, 66, 76,
82, 88, 94,

108,116,125

(S)HQ45:
136,156,189
216,237

SHQ25

Type of
Mounting

L: Foot
Mounting

F: Flange
Mounting

SHQ35

Shaft Rotation

Viewed from
Shaft End

R: Clockwise

L: Counter-
Clockwise

Discharge
Port
Position

Viewed from
Shaft End

A: Upward
(normal)

B: Downward

R:

On Right Hand

L:

On Left Hand

Suction
Port
Position

Viewed from
Shaft End

A: Upward
(normal)

B: Downward

R:

On Right Hand

L:

On Left Hand

30

® Max Pressure: 245bar
e HQ: Fixed Displacement Vane Pump
e SHQ: Low Noise Type Fixed Displacement Vane Pump

HYSTAR ® system™. Hyking Corp. ©2002




(S)HQ15,25,35,45 Single Pumps - Performance Characteristics

FIXED VANE PUMPS

Delivery Flow (Ipm)

at no-load pressure

Running Speed (rpm)

Running Speed

(rpm)

Max
Pressure

Weight (kg)

Foot Type | Flange Type
HQ15-06 6.2 7.4 9.3 11.2 | 1800 | 1200 210 12.5 10.5
HQ15-08 8.1 9.7 12.1 14.6 | 1800 950 210 12.5 10.5
HQ15-11 11.2 13.4 16.8 20.1 | 1800 950 245 12.5 10.5
HQ15-14 14.3 17.1 21.5 25.7 | 1800 950 245 12.5 10.5

w0 HQ15-17 17.1 20.5 25.6 30.7 | 1800 950 245 12.5 10.5

% HQ15-19 19.2 23.0 28.8 34.5 | 1800 950 245 12.5 10.5

HQ15-23 23.3 27.9 34.9 41.9 | 1800 950 245 12.5 10.5

HQ15-26 26.1 31.3 39.1 46.9 | 1800 950 245 12.5 10.5

HQ15-31 311 37.3 46.6 - 1500 950 245 12.5 10.5
(S)HQ25-18 18.1 21.7 27.2 32.6 | 1800 950 245 19 14
(S)HQ25-22 22.1 26.5 33.2 39.8 | 1800 950 245 19 14
(S)HQ25-26 26.2 314 39.3 47.1 | 1800 950 245 19 14
(S)HQ25-32 32.1 38.5 48.1 57.7 | 1800 950 245 19 14

& (S)HQ25-38 38.2 45.8 57.3 68.7 | 1800 950 245 19 14
,% (S)HQ25-43 43.2 51.8 64.8 77.7 | 1800 950 245 19 14
e (S)HQ25-47 471 56.5 77.0 85.0 | 1800 950 245 19 14
(S)HQ25-52 52.3 62.7 78.4 94.1 | 1800 950 245 19 14
(S)HQ25-60 60.2 72.7 90.3 | 108.3| 1800 950 210 19 14
(S)HQ25-65 65.3 78.3 97.9 | 117.5| 1800 950 210 19 14
(S)HQ25-75 75.0 90.0 | 1125 - 1500 950 175 19 14
(S)HQ35-60 60.3 72.3 90.4 | 108.5| 1800 900 210 42 34
(S)HQ35-66 66.4 79.6 996 | 119.5| 1800 900 210 42 34

o) (S)HQ35-76 76.3 915 | 1144 | 137.3| 1800 900 210 42 34
2;5 (S)HQ35-82 82.2 98.6 | 123.3| 147.9| 1800 900 210 42 34
25 (S)HQ35-88 88.3 | 1059 | 1324 | 158.9| 1800 900 210 42 34
(S)HQ35-94 945 | 1134 | 141.7| 170.1| 1800 900 210 42 34
(S)HQ35-108 108.2 | 129.8 | 162.3 | 1944 | 1800 900 210 42 34
(S)HQ35-116 116.1 | 139.3 | 174.1 | 208.9| 1800 900 175 42 34
(S)HQ35-125 1246 | 1495 | 186.9 - 1500 900 175 42 34
(S)HQ45-136 136.8 | 164.0 | 204.0 | 246.0| 1800 600 175 50 42

g (S)HQ45-156 156.2 | 188.0 | 234.0 | 280.0| 1800 600 175 50 42
I (S)HQ45-189 189.5 | 227.0 | 284.0 | 340.0 | 1800 600 175 50 42
2 (S)HQ45-216 216.0 | 260.0 | 324.0 - 1500 600 175 50 42
(S)HQ45-237 237.0 | 285.0 | 355.0 - 1500 600 175 50 42

HYSTAR ® system™. Hyking Corp. ©2002 130




g ¥ G 1 7\

DIMENSIONS MILLIMETERS(INCHES

HQ15 Flange Mounting HQ15 Foot Mounting
DISCHARGE PORT # 15(.59) 1? 7(28) 185(7.28) 2-¢ 11(.43) HOLE
SUCTION PORT 28(1.1) o 565 826522 ¢ 18('711) SESJ FACER
— WL (222) 3
B | ENA |
2 s
e H / Y}@\ /\%}@ S //\\ s
g N (=] r/ (% f - E
l;; \ \/ \f Vai /:‘) g 5 )
S N E i 1 & 2
% \ 1T [T i
/ 50 56.5 95(3.74)
262 = 3(12) AN 222 3
175 A MBX1 25P : Z 725085 | 7250289 | |8
(1.03) = 95(3.74 35 180(7.09 -
(69) DEEP 15(.59) (3.74) (1.38) (7.09)
4-M10X1.5P-DEEP 17(.67)
185(7.28)
130(5.12)
56.5(2.22) 285  53.5(2.1) T06@17)
(12)[ 45077 | 4 .
e%| %9
I H g3 —0
© | v 3
E 3 - 1.18 A 1 ,N §
g — fahN D AR IR
= ) Z \ N e
2-¢ 11(:43) HOLE /
T ¢ 18(.71) SPOTFACER
1 DEEP
HQ25 Flange Mounting HQ25 Foot Mounting
DISCHARGE PORT 13(51) 232(9.13) 4-§13.5(.53) HOLE
SUCTION PORY 32 45 83(3.27)  87.5(3.44) 21(.83) SPOTFACER 1 DEEP
(1.26) | (.18) R
$38(1.5) \ (_lt h
g U
© |-
il ITRENAY /A . R
8 I i NS <l =
3 NP Bl B 3 °
8 \ A \é'\ Ifﬂ‘\ - 4@# %
Lo T d— -
/ A-M10X1.5P 60(2.36) | 73(287) t12008.72) RN
357 . DEEP17(.67) ‘ 95374) | ws@74) | | 2B
141 -
703 15453 [36(1.5) 230(9.06)
4-M12X1.75P-DEEP 19(.75)
232(9.13) 174(6.85)
) 87.5(3.44) . 146(5.75)
| 60.5(2.38) | % ¢
3|
199 —
T 1] 8= 98
. T T T =3 N —
e «.@ 50(1.97) 2
o 26(1.81 Py
g|R (20 5] N
) ] 1 3 2
3 s el
8 I 5 8
=
2- ¢ 13.5(.53) HOLE
21(.83) SPOTFACER 1 DEEP
5 3(.12)
(.35)

131 HYSTAR ® system™. Hyking Corp. ©2002




FIXED VANE PUMPS

—{

DIMENSIONS MILLIMETERS(INCHES)

HQ35 Flange Mounting HQ35 Foot Mounting
285(11.22)
DISCHARGE PORT ¢ 30(1.18) 21 4-917.5(69) HOLE
: e o5, 24T #26(1.02) SPOTFACER 1 DEEP
SUCTION PORT ¢ 53.5(2.11)
\ g | N il
= b ~
E ) L ;i By 1/ , Z
A\ 2 —er O-— & g
g y@\ G ) g g%
A an VAN —) ~e & | g ]
2 \kj \ 7 NH= Bl R e s
~ & &0 i 76.2Jl 88(3.46 | rasrn | S
% > 40(1.57) (3.00) 117.5(4.63) | 117.5(4.63) | |&
~ 3 ’- 1816:16) | 50 274(10.79)
42.9 (1.97)
G9) 30.2(1.19)
4-M12X1.75P-DEEP 19(.75\ 4-M10X1.5P-DEEP19(.75)
285(11.22) 213(8.39)
o0(354)  112(441) | S8 e 181(7.13)
\ | 75295) | Rls ol ‘
=N M@
= —— | 63248)| 2= 8l P —
o s <8
=8 s I
: L s P9 3
g || |68 =
3(12)
— 5 2-¢ 17.5(.69) HOLE —
26(1.02) SPOTFACER 1 DEEP
HQ45 Flange Mounting HQ45 Foot Mounting
305(12.01
SUCTION PORT $75(2.95)  DISCHARGE PORT ¢ 38(1.50) (1200 . 4-¢17.5(.69) HOLE
\ 4-M16X2.0PX19(.75) DEEP/ r— - 110.2 (5.24) ¢ 26(1.02) SPOTFACER 1 DEEP
o) <3 (4.34) -
\ | \ / 5 i; g % i R ¢
B g NERE | / .
o [P IR Y = e
a3 ] =) s el
3 \ i L SN =
o )
? K/ / 7 & T aiall - I s
<« S | ‘ 76-2J 05l3.74 145(5.71) g
l (3.00) 175(4.63) | 117.5(4.63) | |&
é—IIE\AI;sX1.75PX19(475) 131(5.16) 59 27410.79)
35.7(1.41) 232)
61.9(2.44) A
305(12.01)
110.2(4.34) 133(5.24) 215(8.46)
52(2.05), g1(3.19) ) 181(7.13)
= B T | 68(2:68) °,§ m
| | | T )
§ T 2-$17.5(.69) HOLES
5 50(1.97) 2 2 #26(1.02) SPOTFACER
g 3 —| [ Syes ~ 1DEEP
. g a1 &
g B s N N ¥
3(12) o N -
@ (. J
13(51)
HYSTAR ® system™. Hyking Corp. ©2002 132




MILLIMETERS(INCHES)

SHQ25 Flange Mounting SHQ25 Foot Mounting
277(10.91)
DISCHARGE PORT P1 ¢25(.98)  4-M10X1.5P-DEEP 17(.67
(%) (67) 1o74.21) (293-2) 4-¢17.5(.69) HOLE
w's) _ 46(1.81) ' #26(1.02) SPOTFACER 1 DEEP
25 . —T T = [©)
o \ T gl
|-
Y| [ & 3
A5 B B0 T——1 = AN A AW
Ny > L@\/ ) T Sd 6‘\/ gl&
S | -© © @ 2’ E
"5< 30 Ty B oo jte
R L =
357 | 762 | 735 L rasern) 5
41 26.2 "(3.00) T (2B89) 117.5(4.63) | 117.5(4.63) | |Q
4-M12X1.75P-DEEP 19(.75) (1.03) 131(5.16) 355 274(10.79)
(1.40)
277(10.91) A 3 218(8.58)
107(4.21) 46 59.5(2.34) 30: Shaft |¢22.23(.87) | ©24.5(.96) 181(7.13)
(1.81) 40: Shaft | ¢25.4(1) [28.18(1.10)
N s | I g o3
e >
7=} o
<| o & S
- i3 N
[ 8 lc\o N
=] - B o /;
r N
- L/
=
I§ 3 2-¢17.5(.68) HOLE
9 (12) #26(1.02) SPOTFACER
(35) 1 DEEP
SHQ35 Flange Mounting SHQ35 Foot Mounting
282(11.10)
DISCHARGE PORT ¢ 30(1.18) ('g o 2 617.5(69) HOLE
SUCTION PORT ¢ 53.5(2.11) (3?5) 90(3.54) 112(4.41) #26(1.02) SPOTFACER 1 DEEP
\ - o '\ I
T L °s o
LN . Cadd i
= @@\ = il + T e
s e -~ @ D SIS
gl | [/ VAR e S 5 AL
s NN i < z
~ el i T S i B
-— T
%» x 40(1.57) |_76.2 | 88(3.46 Lﬂw =
\J ( 3.00) ' 117.5(4.63) [ 117.5(4.63) | | 3|
o™
429 131(5.16) | g 274(10.79) &
1.69) 30.2(1.19) ‘ T.97)
4-M12X1.75P-DEEP 19(.75)_4-M10X1.5P-DEEP19(.75)
282(11.10)
90(3.54) 112(4.41) R 213(8.39)
r 7] 75(2.95) | 2 a % = 181(7.13)
N 2]
== ; — 63248)| U= BI<  —
| » m 7N
& - g
=g = N o
-~ [} o I b
5 L g 1. NN
: - AN AR
- =
% 46(1.81) 2-$17.5(.69) HOLE
= - #26(1.02) SPOTFACER 1 DEEP ~———p——

HYSTAR ® system™. Hyking Corp. ©2002



® FIXED VANE PUMPS

ing

:
DIMENSIONS MILLIMETERS(INCHES)
SHQ45 Flange Mounting
13
(51)
4-M16X2.0PX19(.75) DEEP 1.9 357 7
SUCTION PORT 475 (2.44) (1.41 © 8
— |l s B
(R = S @
RIS 2\ 2 g
A antuINiz i
g1 [NV AN n,
g \\/ - ‘
-~ L _4 :
1 \\/ "
g W/
DISCHARGE PORT ¢ 38(1.50) W
4-M12X1.75PX19(.75) DEEP —
273(10.75)
385(15.16)
166.5(6.56) 131(5.16) 228.6(9.00)
50 81
9N~ (3.19) g =
T g3 2 ~ T 1t
: : | 68 gl & _ {5 Pl sy
o @:‘* |l —res ¢ & & = b
b} i i i ; 5 v
N b N ] o
g g ‘ - ; ?i 3 K\ §
g NE) faa) >
N
& | l
g$7 3(.12) 4-422(87)
$39(1.54) SPOTFACER
1 DEEP

HYSTAR @ system™. Hyking Corp. ©2002 134




Assembly and Parts List

ASSEMBLY,HQ15, 25, 35, 45 Series

PARTS LIST

Back-Up Ring

Item Name HQ15 HQ25(SHQ25)  |HQ35(SHQ35)]  HQ45(SHQ45)
1 Retainer Ring R47 R52 R72 R85
2 | Seal 22x47x8 30x52x11 35x72x12 50x85x10
3 | Bearing 6204 zz 6205 zz 6207 zz 6209 zz
4 | Shaft 19.05 22.24 3175 38.10
5 | Key 476 x 25 6.35 x 30 7.94* x 40 9.54% x 50
6 | Housing K1A-** K2A-** K3A-** KAA-*
7 | Cartridge Kit C1A-** C2A-** C3A-** CAA-
8 | O-Ring G85 G100 G135 G140
9 | Cover L1A L2A L3A L4A
(HQ25)M12x1.75x140 (HQ45)M16x2.0x160
10 | Cap-Screw | M10x1.5x85 | gpiq05)M12x1.75x120 | M16X2.0x140 | g1i45)M20x2.5%160
O-ring & Endless
1 | Bty Hing P36 P46 65.5x3.5 G80
12 | 2ring & Endiess| o4 o 55 90.2x3.5 G115 G130

HYSTAR ® system™. Hyking Corp. ©2002




FIXED VANE PUMPS

(S)HQ15 TYPICAL PERFORMANCE CHARACTERISTICS

[ PRESSURE-FLOW;INPUT POWER

[ CONDITIONS:
Hydraulic Flui

:ISO VG46

Temperature:40 "C(104 °F)

)HQ
usgpm Ipm
15
F
14 180
= ——
35
13
L —
12 —
EN ~ s
11 —
Z | g
r2s5F [ —| K
5 9 — 1
3 L L 200, =
S a
S,°® —| =
LY [ KW HP
L7 1%
648
[ — .
4
— 1,94
% i 2
4
0 35 70 105 140 175 210 bar
! ! h ! ! u
0 500 1000 1500 2000 2500 3000 PSI
Pressure
HQ
Usgpm Ipm
30 r
C —]
robn — -
L F —
2
L —
65 [—| 1500,
24 pm 1
6 =<l
2
550
20 [————g 12
5+ = e |
18 =
a5 b — = —
. 16 b 1009
s4r r Rk
[ R =t
<35 L ~ kW HP
.;.'- 12 16
3° 20
14
] 18
124 16
T 1014
4 12
= 840
P i
— 707¢
6
— il .
= 2
Z 1 :
L Y
0 35 70 105 140 175 210 245 bar
! ! N ! ! 1 u
0 500 1000 1500 2000 2500 3000 3500 PSI
Pressure
)HQ15-26
Usgpm  Ipm
13 150 = ‘
12 E o
800
m
—
——
1500701
1200,
1000, —
- [%00rpm,
3 g
o —
[ — —
s
=3
3
KW HP
EREES
028
2
20
- = 16
= 12
Z == .
= 1 4
0
0 35 70 105 140 175 210 245 bar
| ! h 1 ! 1 u
0 500 1000 1500 2000 2500 3000 3500 PSI

Pressure

Input Power

Input Power

S)HQ1
Usgpm Ipm Usgpm Ipm
22 2
55 r 65 [ 1
20— = 2 18
18 2
—
45 F | [ 55 [ \\
16 1500rpm 20
°F = T Tl
n 5 18 om
35 L { Lok <
s M 5 45 —
S, ~ 2005, H 1 ~ 1200,
[ L ~Pm 3 4r F = 200,
~ Pm
S, 10 a 4 i
8 = e LA 35 L — ~ —
3,Ls 0y & 12 = | "00p, N
5 e Y z3 L + ]
8 £ 10 ) H
10 Lash —
4, 5 L a
8 2, s 5
|~ - K 3 2 woHe &
= 4 14
= - 4 i 18
1
27, 124 16
Z | o7, 1104
0 35 70 105 140 175 210 bar d
1 ! I ! ! u B 2
0 500 1000 1500 2000 2500 3000 PSI ] | 10
Pressure 6
/ = T 8
i s
= =
- I g 4
2
= i 2
97,
0 35 70 105 140 175 210 245 bar
1 1 I I 1 1 u
0 500 1000 1500 2000 2500 3000 3500 PSI
Pressure
)HQ15: S)HQ15-23
Usgpm Ipm Usgpm Ipm
o LI 5
s 1 FE—l
30 — WEeE ———" 1800rpp;
7 E
25 =+ E=
6 —— ST ET T = Irsoopm
5 20 8 3ok \T‘ - —
-+ — 3 —
— B E—L _
L4 ~—— . s [PE 1200pm _
— — 8 6 F— ]
3 3 E — 1 =
2 3 1 g [ g = — Doozm — g
ES = El E - W HP O
£ 3 gats — 20 ]
3 woHe & 3 1 2 &
1
- 420 — %] 20
12 16 124 16
— —
— L ]
I _ s —| T 8] 12
g = O -+
-~ 1 — ] = = ] 8
e — 1474 4
= o 1.9,
0 35 70 105 140 175 210 245 bar 0 35 70 105 140 175 210 245 bar
1 ! I 1 ! 1 u I 1 I I 1 I u
0 500 1000 1500 2000 2500 3000 3500 PSI 0 500 1000 1500 2000 2500 3000 3500 PSI
Pressure Pressure
S)HQ
Usgpm
5 F
4 —|
3
2
nE E ]
[0 E
Wb E
orE—1
9 F —
Be a0 g
oL E [ S
3.0 E =
Ss - E HPS
3 5 [20 40 E
36
32
28
2
20
16
= 12
— 4 8
=3 E 4
=T E .
0 35 70 105 140 175 210 245 bar
! ! ! 1 ! 1 u
0 500 1000 1500 2000 2500 3000 3500 PSI

Pressure

HYSTAR ® system™. Hyking Corp. ©2002




@

¢

(S)HQ25 TYPICAL PERFORMANCE CHARACTERISTICS

[ PRESSURE-FLOW;INPUT POWER
I CONDITIONS:
Hydraulic Fluid:ISO VG46
Temperature:40°C(104°F )

Usgpm Ipm Usgpm Usgpm

40
10 E ‘ " ‘

9 — I
10 1
, 800 ~——|_7800rpp,
9
B —|
E ——_"500rpm 8
6 —_—
E —| 7
s [20F — = 7200rpm, =
— .| 6
z —_— 1000mm — — I 3 -
34 83— 2 385 :
[, = — 3 [ S 3 .
El — T 5 . 3 g
22 5 2 HPS I S
5 a 53 a = o
o £ o 2E 3 =
KW HP 2 £ 3
2 2 3 £
24 E 24 KW HP
= 15 20 20 EREEY
| —T 16 16 28
= — =1 12 == = 12 24
et 1 = — 8 | 8 2
=1 — = =t
—= 3.7 = | ‘ 16
0 3 70 105 140 175 210 245 bar 0 3 70 105 140 175 210 245 bar 12
! L M | | | u I L ! ! ! ! u 8
0 500 1000 1500 2000 2500 3000 3500 PSI 0 500 1000 1500 2000 2500 3000 3500 PSI %;’ = 4
Pressurs Pressure - 0
essure 0 3 70 105 140 175 210 245 bar
! ! ! ! ! ! u
0 500 1000 1500 2000 2500 3000 3500 PSI
Pressure
)HQ25-32 Y)HQ25-43
Usgpm  Ipm Usgpm  Ipm Usgpm  Ipm
|60 18 70 = T 80 ‘
15 16 [ \\M'm\ * [ Te0mm
uf 0 | — 18 (- 70 —
r " £ ——1 _ | 15000m P 1500, —
13 [5 50 — 16 60 o P

L 12 L [ ] L —|

C __ | 1200rpm 14 D
2 10 40— o 50 == 1200rpm
" r — |— [ 1%0mpm - — 12 F -

- 4 8 30 = — = 10 %0 ——— 1000rpm = .
UE H] 6 L 2 H r [ +— —_ 9]
o E < [ 20 % iC 8 |30 — %

C = o = [ o

g8 3 — o} 53}4 5 56 20 5
,[ 3 3 w o g 34 Hp &
s L o 40
2o [ HPS i 50 50
5 a
5° [
35 L2 40 E ] 30 40 40
36 = 20730 30
32 — 1 —
= — | | 20 20
28 /, — 10
2 //’/:/’ . 45 10 = 10
20 = 4 0
P 0 3 70 105 140 175 210 245 bar 0 3 70 105 140 175 210 245 bar
Il Il Il Il Il Il 1 Il Il Il Il Il Il 1
12 0 500 1000 1500 2000 2500 3000 3500 PSI 0 500 1000 1500 2000 2500 3000 3500 PSI
8 P
ressure Pressure
= 4
= 307,
0 3 70 105 140 175 210 245 bar
! ! ! ! ! 1 )

0 500 1000 1500 2000 2500 3000 3500 PSI
Pressure

)HQ25-60 )HQ25-65

USgpm  Ipm USgpm  lpm USgpm  Ipm
100 ~110 120
2 — T F [
r—] BE T, sof [T "800y
24 "90 — 26 [100 F110
» L \""’\ CF —| [ | 7\\
80 24 90 } 26 [100
20 L~ a [ — oL T — |_7500 Lk = 1500, I
t — | 1500 2 - o = om
8 [70 o Fso = S| 24 e =
r—| — | 08 b ‘ »l —
"6 peo =+ [ "200p, 18 [70 720075y e = |
» L m Lk = 0L b | 7200, _
0 == 1000, = . 16 |60 o0 T — -~ Eis [0 = T — 8
Bup o — H Sl T T =t ] Lo beo L=l | 1000 ] °
oo 40 = 3 [ 50 = 3 516 60 om o
5 L — o sl L — o 2. F — 5
88 la ‘g_ 8,0 [0 5 3 fso — 5
3 Ko HP S 3°F F 5 12E F KW HP
50 8 Lo [ 40 40
60 KW HP 10 | 50
47 50 40 5 | 30740
— 157w P D - 207 30
—
-1 — ~——] 2 = 20
= = 30 = 30 —
= — 20 = 20 07 40
r—— 1,17 ] 1,17 =1 10,
10 10 o 35 70 105 140 175 bar
il — il
°7, = 09, | ! h L u
0 35 70 105 140 175 210 245 bar 0 35 70 105 140 175 bar 0 500 1000 1500 2000 2500 PSI
! ! ! ! ! ! u ! ! | ! u Pressure
0 500 1000 1500 2000 2500 3000 3500 PSI 0 500 1000 1500 2000 2500 PSI
Pressure Pressure

137 HYSTAR ® system™. Hyking Corp. ©2002




FIXED VANE PUMPS

(S)HQ35 TYPICAL PERFORMANCE CHARACTERISTICS

[l PRESSURE-FLOW;INPUT POWER
[l CONDITIONS:
Hydraulic Fluid:ISO VG46
Temperature:40°C(104°F )

YHQ3: S)HQ3
Usgpm  Ipm USgem  Ipm Usgpm  Ipm
140 150 160 = -
N ol C T ! ‘ 4 r \\\i\‘\ 180
C — 38 —| om
34 [130 = _1800mpn, F140 7800rpp, 140 T —
[ \]\]\\ s | | 36 F——1 1500rpm
32 120 24 130 120 —— —
oF | I ‘ rF 30 L ] |
—|
Fito < 150075, 32 120 |—F - 100 —— L 1200pm
8- | roE ~ 750070, 2 N T
100 = = — g0 —F = 1900pm, ——
26 10O ‘ [ == 26 [0 ] 2 I e
2 I
For T~ 200, 26 [0 515 L0 5
2r ~ + Foo T 120 2 H
[-80 24 90 Orpm o S
2z 2L - C b s KW HP O
C . —| - o bl
3 = = 2
Bg 70 2 = — | 7000, 2 35 coge0 g
i r— _| 5 o ~L200rpm, 3 o 8 0 E
516 60 = 1090rpm T = o 50
2.0 F —"_ ES - kW HPZ 9 60
3 Fso = 15 6080 T %0 s
2 KW HP LA P
40 50 507 70 30 40
10 A =
60 | A 60 L 1T 2
40 40 20
50 50 —1
i A = B 20
g 30 40 30 40 10
-+ — i 10
= 30 - 1 30 0
20 — 20 0
4 i 2 il i 2 0 20 40 60 80 100 120 140 160175 bar
~ 10 — ] 10 Il Il Il Il Il Il Il Il L L L L
1 10 //‘ i 10 0 400 800 1200 1600 2000 2400  PSI
0
0 0 Pressure
60 80 100 120 140 160175 bar 0 20 40 60 80 100 120 140 160175 bar
e T N R T S M B
0 400 800 1200 1600 2000 2400  PSI 0 400 800 1200 1600 2000 2400  PSI
Pressure Pressure
)HQ35-94 S)HQ35-1 S)HQ
Usgpm  Ipm Usgom  Ipm USsgem  Ipm
180 ‘ 220 I 240
45 =— 55 - [F— 1 60 - [[—] ‘
160 L —T—— 1800rpm 200 —T— 800rpm 220 7800rpm,
40 = ——] 50 | — 55 |- |
140 S a 180 t 200
35 C =r ] 500;,,,,.,_ 45— 1suo,,,,J 80 - e 15¢ {
0 120 | % — 160 — - 180 00rpm
S SR ERRAE= o .
25 100 — Y P 160 ]
E— I I S 1200, 40 - L
80 —— 4+ | 1000pm 120 [ o 140 —— 1200rpm,
gzo C +— 1w w5 530 L | ‘ ——| 2’;—’ zm- | T\\\\ g
i 45 L60 0,08 g [100= 10005, 3 c, L= — 10007y, 3
3 J < H r —|— < E B I — 5
E=3 6080 3 £ 80 = 3 £ 100 — E}
3 g I3 3% - wo P & 3%r F wooHp &
5070 15 L60 100 20 L80 100
f 60 g 120 A 120
7 350 g 8 J100 ] 80 J00
— ] 60 - 80 — 60 - 80
- — =
L — 207 — " 5760 13 20 76
A 4+ — T | 40 ZE= B 40
1 « 20 — == ===
T = 212 == 212
—
Jo4, = Joq, = | Jo1,
0 20 40 60 80 100 120 140 160175 bar 0 20 40 60 80 100 120 140 160 bar 0 20 40 60 80 100 120 140 160 bar
I ) T SN S R | STy
0 400 800 1200 1600 2000 2400  PSI 0 400 800 1200 1600 2000 PSI 0 400 800 1200 1600 2000 PsI
Pressure Pressure Pressure

HYSTAR ® system™. Hyking Corp. ©2002 138




DOUBLE VANE PUMP

HQ215-**

Graphic
Symbol

Cover End
Pump Nominal

Displacement
o’/ rev
6.2

Shaft End
Pump Nominal

Displacement
e/ rev
18.1

P max.
bar(PSI)

210(3000)
HQ215-* 8.1 22.1
HQ215-* 1.2 26.2
HQ215-* 143 32.1
HQ215-* 17.1 38.2 1800 141
HQ215-** L 19.2 43.2 245(3500)
HQ215-* 23.3 52.3
HQ215-* 26.1 60.2
HQ215-* 31.1 65.3 1500
HQ225-* 18.1 18.1
HQ225-** 22.1 22.1
HQ225-* 26.2 26.2
HQ225-** 32.1 32.1 250(3600)
HQ225-* 38.2 38.2 1800 141
HQ225-** 43.2 43.2
HQ225-** L 52.3 52.3
HQ225-** 60.2 60.2 210(3000)
HQ225-* 65.3 65.3
HQ225 HQ225-+* 75 75 175(2500) 1500
HQ315-** 6.2 60.3
HQ315-* 8.1 66.4
HQ315-* 1.2 76.3
HQ315-** 14.3 82.2 210(3000) 1800
HQ315-** 17.1 88.3 142
HQ315-** L 19.2 945
HQ315-* 23.3 108.2
HQ315-** 26.1 116.1
HQ315 HQ315-+ oL 1246 175(2500) 1500
Cover End Shaft End
LOW NOISE TYPE Graphic Pump Nominal Pump Nominal P max.
DOUBLE VANE PUMP Symbo| Displacement Displacement bar(PS|)
e frev cnf frev
SHQ215-** 18.1
SHQ215-** 22.1
SHQ215-** 1.2 26.2
SHQ215-** 1:? 32.1 250(3600)
SHQ215-** 38.2 1800
SHQ215-** L 192 432 144
SHQ215-** ZZ:’ 52.3
SHQ215-™ 311 602 210(3000)
SHQ215-** 65.3
SHQ215 SHQ215-** 75 175(2500) 1500
SHQ325-** 18.1 60.3
SHQ325-** 22.1 66.4
SHQ325-** 26.2 76.3
SHQ325-** 32.1 82.2 210(3000) 1800
SHQ325-** 38.2 88.3 144
SHQ325-** L 43.2 94.5
SHQ325-** 52.3 108.2
SHQ325-** 60.2 116.1 175(2500) 1500
SHQ325 SHQ325-** 65.3 124.6

HYSTAR ® system™. Hyking Corp. ©2002




—{

FIXED VANE PUMPS

(S)HQ Series
Fixed Displacement Double Vane Pump

SHQ215

SHQ325

HQ225

Dis:r:;rge oi th: Discharge Port
ischarge : o
Port Port Shaft Rotation | Position (P1)
c.clrev c.clrev (view from Shaft End) |Shaft End Pump
ShaftEnd | Cover End \ewitiomiSHAtiERd)
-60 -52
18, 22, 26, 32 | 18, 22, 26, 32 i
F: R: Clockwise | A: Upward
225 | 38,43, 47, 52| 38, 43, 47, 52
Flange (Normal)
60, 65, 75 60, 65, 75 A
Mounting| L+ Counter- B: Downward
Clockwise
R:
60, 66, 76 6,8,11,14, |L: On Right Hand
315 |382,88,94 [17,19,23, |Foot L:
108, 116, 125 | 26, 31 Mounting On Left Hand
18, 22, 26,32 | 6, 8, 11, 14,
215 | 35 43, 47, 52 | 17,19, 23,
60, 65, 75 26, 31
60, 66, 76 18, 22, 26, 32
325 |82,88,94 |33 43 47,52
108, 116,125 | 60, 65, 75
136, 156 18, 22, 26, 32
425 | 189,216 38, 43, 47, 52
237 60, 65, 75

Suction Port
Position
(view from Shaft End)

A: Upward
(Normal)

B: Downward

R:

On Right Hand

L:

On Left Hand

HQ315

Discharge Port
Position (P2)
Cover End Pump
(view from Shaft End)

A: Upward (Normal)
B: Downward

R: On Right Hand
L: On Left Hand

A: On Right Hand
Upward 45 (normal)
B: On Right Hand
Downward 45°
C: On Left Hand
Downward 45°
B: On Left Hand
Upward 45°

30

® Max Pressure: 245bar
¢ HQ: FIXED DISPLACEMENT VANE PUMP
e SHQ: LOW NOISE FIXED DISPLACEMENT VANE PUMP

HYSTAR ® system™. Hyking Corp. ©2002




HQ215 Flange Mounting HQ215 Foot Mounting
326(12.83)
DISCHARGE PORT P1 ¢ 25(.98) 25643 8015 50(3.50)
SUCTION PORT ¢51(2.01) _
[_ B — -
¥ I 5§27
w 1 s, B N
ol =
\ g — 14‘\ A* 3
=y  [FUE o
U < ) g| =
L1 S| ele :l e g
[ ' SIS N
30 g TN T -
[ — (1.18) T L
. x 26.2(1.03) 73(2.87) 120(4.72)
4-M12X1.75P-DEEP 19 44 13.5(58)HOL A1 e
(.75) 429 (2:36) 95(3.74) ‘ 95(3.74)
22.2(.87) 769) 4-M10X1.5P-DEEP 17 ¢21(.83) SPOTFACER 3 |
T I DISCHARGE PORT P2 ¢ 19 (:67) 1 DEEP nsase | (150 230(0.06)
5 (75)
5 %
N
<
4-M8X1.25P DEEP 14(.55) i85
326(12.83)
112.5(4.43) 80(3.15) 285 61(2.40) o§ o2 146(5.75)
f f A
| 0112 g8
& i —(L— | I8
: {P % ‘ ‘ 8| ® | Q\
~ g A N -
< o Ja anl <
3 NP9 %
g T
@ o 2-¢13.5(.53) HOLE \[\ /J/
)
9(.35) ¢ 21(.83) SPOTFACER 1 DEEP
HQ225 Flange Mounting HQ225 Foot Mounting
12 358(14.09)
(47) S 109(4.29) 109(4.29) 89.5(3.52
DISCHARGE PORT (35) (4.29) (4.29)  89.5(3.52)
P2 ¢25(.98) SUCTION PORT ¢ 63(2.48) _
= 1 i
: = T _
B ¢ = 7 _ VD)3
Sle / 4\ = x eTi & | & P a x S
S| O 0 (=) 5 ol @
Il | © o ] 5 w\j o ®
SR \ o N J N PN e A S
38 @ 3 / B ¢ é A r—‘J‘ NP Lj 9|
\)@ | & 73l287)| ! \ 12 472\
3(.12) 4-413.5(53) HoLg | =82 : 0(4.72)
] 26.2 ! / = 2:36) 95(3.74) | 95(3.74
4-M10X1.5P- 7.03) 50.8 26.2 ¢%1I(D.EIE)PSPOTFACER 38 (3.74) L (3.74)
DEEP 17(.67) (2.00) 1.03) "Y' 4-m10x1.5P 115(4.53) [(1.50) 230(9.06)
4-M12X1.75P-DEEP 19(.75) /| DISCHARGE PORT DEEP 17(.67)
P1 25(.98)
358(14.09)
109(4.29) 109(4.29) 285 61(2.40) 173(6.81)
(112)[ 55(2.17)
T T T T T 4
I | | ! ! | !
& = ‘ S mimm= (16)
> S o)
o sl |e 32 .
< N g | p.ze) =4 3
Sy e 8 | &
H £l g
I
E g 2-¢13.5(.53) HOLES
= =
¢ 25(.98) SPOTFACE 1 DEPTH

HYSTAR ® system™. Hyking Corp. ©2002




& FIXED VANE PUMPS

T
HQ315 Flange Mounting HQ315 Foot Mounting
DISCHARGE PORT P1 30(1.18) »
385(15.16 .
SUCTION PORT ¢ 78.5(3.09) (:83) 9 | (15.16) 4-917.5(69) HOLE
&S . 120 122 113(4.45) $26(1.02) SPOTFACER 1 DEEP
DISCHARGE PORT o8 (4.72) ] (4.80) | =
P2 ¢ 19(.75 i ol =~ TTT @
p19(78) | & 85 L n n
8| 51 fop O\ RBI/AY - — A g B
S| < 4 | Ny N R} 10 O v =g
5| @ f K g / )T 8 i A\ 2=
S /{é? J Sl\¢ | e i I 2 &
© A A I S L
220 . i 76.2 i 88(3.46 L 145(5.71) s
87 (3.00) 17.5 175 | |2
619 202 131(5.16) | 50 @es) o @ey T |
4-M8X1.25P DEEP14(.55) (2.44) (119 (T:97) {i0.79) |
4-M16X1.75P DEEP19(.75)/ 4-M10X1.5P-DEEP19(.75)
385(15.16) 3| . 213(8.39)
120(4.72) 122(4.80) 113(4.45) '.5 ° 181(7.13)
| 75(2.95) 8
1 y \ — S Sl — \
i i S| @
S ‘ I il
a ‘ 1: 410(1.57 = . / \ _
5|8 - o2 3
R - : N NN
g = o) N 8
e S <
_ | |/63(2.48) & J s
S
J
= = 2-¢17.5(.69) HOLE ——"

¢ 26(1.02) SPOTFACER 1 DEEP

HQ325 Flange Mounting HQ325 Foot Mounting
403(15.87, "
DISCHARGE PORT P1 ¢ 30(1.18) 9635 f ( ) 4-¢17.5(69) HOLE
21 139.5 1155 i 112(4.41) ¢26(1.02) SPOTFACER 1 DEEP
SUCTION PORT ¢ 78.5(3.09) 8T ] o 649 (4'55)‘ - (]
[\_ ?o = —
7g7 39; o= 7117 ‘\ PN 1 P '?:’
& & K - =0 - % =&
5| BRI MIES | o/ g
g Ve \\L/ Al e S 2
= B g J T L I N 4 I
El ‘ \ 40 | 762 | 88(3.46 |1 14s(5.71) <
DISCHARGE PORT/ 61.9 o7 (300 (141 E; (141 E; g
P2 ¢21(83) 2.44) 3 \4-M10X1.5P 11619 o4
26.2(1.03) 302 CEEp1e 7E (1.97) (10.79)
4-M10X1.5P (119 (78)
DEEP 17(.67) _ 4-M16X2.0P-DEEP 19(.75)
NG
o ok
= 403(15.87)
1395(5.49)  1155(4.55)  112(4.41)
‘ 75(2.95) § e 213(8:39)
o °G‘? °og 181(7.13)
: g
46 5 8
T T — — - J o
~§*i i rl P (1.81) = §
g S H 5 8 / \ N3
N 1 A Vi a2
% | 2 N W 8
) %_‘/ )
L8 J

g\ LJ 2-17.5(.69) HOLES

T
3(.12) ¢26(1.02) SPOTFACER 1 DEEP

HYSTAR ® system™. Hyking Corp. ©2002




DIMENSIONS

MILLIMETERS(INCHES)

HQ425 Flange Mounting HQ425 Foot Mounting
DISCHARGE PORTP1 $38(1.50) —of 13(51) 425(16.73) 4-$17.5(.69) HOLE
SUCTION PORT #88.9(3.50) (83) 136(5.35) _ 119.4(4.70) _133(524) #26(1.02) SPOTFACER 1 DEEP
‘ 3 5 = [0}
9 g
i e N <P\ b
fF & g i
2 e g
o| ) 3 |y N ke PN g
E \ \y\ — = I N7 < T/ =
< — _\ | &
5 @7 NPTy — = g \/ s
T AR % ¢ 1 I ~ 5
& PR @
£ i i i S
1 1
=l : \J 762(3.00) || |_95(3.74) |M 14571 | 3
l60.9(2.75 5 | 117.5(4.63) | 117.5(4.63) | | &
26.2(1.03) L——}} 35.7(1.41) (232) (4.69) N
e D 131(5.16) a7ati079)
DISCHARGE PORT 4-M12X1.75P-DEEP 20(.79)
&)/P2 #24.8(98)
s % 4-M16X2.0P-DEEP 19(.75)
< l‘
S
5
b
4-M10X1.5P-DEPTH17(67)
425(16.73)
348(13.70)
136(535) _ 119.4(470) _ 52 | 81(3.19) ‘ 213(8.39)
[2.05) ~ 68(2.68) 5 e 181(7.13)
‘ soen| @, &
2 r = i 2 s - T
¥ D s« e
S E ‘ 1: EI I 2 =
I i ~ 8 5
= 1 — 2 _ b
. —F
,LJ by s
%» 2-$17.5(.69) HOLES
.= < 7 3(12) #26(1.02) SPOTFACER 1 DEEP
: | . ;
SHQ215 Flange Mounting SHQ215 Foot Mounting
9(35
4-M10X1.5P-DEEP 17 26.2 99) 365(14.3) 4- $17.5 (68)HOLE
SUCTION PORT #63(2.48) [1.03) - Tss2) 15452  106@a7) | |#26(102) SPOTFAGER 1DEEP
25 e
>; :X“') T T Ny
% SN R N
\ g 2 il 5
if\ © = P~ b PR e 3
b : _ 2
N S o i hid S
Y = =i g
2 N Z Ab & ® ‘ b 5
P N Sl il i I i N
| §%J 7/ / T 1 T ugsro, || B
( 6.2(3.00) 73.5 570 =
' 2.89 N
4-M12X1.75P-DEEP 19 (2.89) jS_SJ 17.5(4.62) 117.5(4.62)
50.8(2.00) 131(5.15) _[(1.39)
22.2(87) DISCHARGE PORT P14 25(.98) 274(10.7)
| || DISCHARGE PORT P2 #19(.74)
Y
= A
<
~
¥ A B
T \_4-M10X1.5P DEEP 19
e 30: Shaft [©22.23(87) | $24.5(96)
365(14.3) 40: Shaft | #25.4(1) |628.18(1.10) 218(8.58)
115(4.52) 115(4.52) ,46(1.81) 60(2.36) gl w 181(7.12)
I 1 I <| @
oG ] s
| 30(1.18) 5 o
b & N 3 2
g s % i SR
< 1 ‘
& 5
8 b= 3
- 5
< 2- $17.5 (68)HOLE
m #26(1.02) SPOTFACER 1 DEEP
3(11)

HYSTAR ® system™. Hyking Corp. ©2002




& FIXED VANE PUMPS

—{

DIMENSIONS MILLIMETERS(INCHES)

SHQ425 Flange Mounting

32
(1.26) 13
SUCTION PORT ¢ 88(3.46) (51)
u = 4-M10X1.5P
3 DEEP 19(.75)
1 ‘ 2
o 2
5 ¥ N =1
- R =
& & b
ﬁ? g N Qﬁ
[ gs
595 27 L DISCHAGE PORT P1 ¢ 38(1.50)
4-M16X2.0P-DEEP 19(.75 275 (1.41) 4-M12X1.75P-DEEP 20(.79)
513(20.2) B 3 273(10.75)
162.5(6.39) 181.5(7.15) 50 81(3.19)| | O 228.6(9.00)
(1.97) 3| &
=N 650256 =| T 1
= ﬁ-—’ — 32 7 1
bl@ 50(1.97) <| ¥ N N
wn q ﬁ )
T 0| ~ —_ =)
I A1 : :
sl | e G =3
g W 3 = e
= N @
© 1N
E § Z
N A
l @f— 3
4-$22(.86) HOLES

3(.12)

¢4 39(1.54) SPOTFACER
1 DEEP

SHQ435 Flange Mounting

50(1.97)

32(1.26) DISCHARGE PORT P2 ¢ 32(1.26) %
o L) T N
SUCTION PORT ¢ 100(3.94) 13(51) 4-M10X1.5P-DEEP 19(.75) %
Jf_l . ®
33 3R
& 1 SIS
5 i ;
I \ % | |
3 7 \@
If N g W38
LJ DISCHARGE PORT P1 ¢ 38(1.50)
4-M16X2.0P-DEEP 19(.75) 77.8 35.7 4-M12X1.75P-DEEP 20(.79)
(3.06) 47
556(21.88) 3 273(10.75)
193(7.59) 189.5(7.46) 50 | 81(3.19) 228.6(9.00)
(1.97) 5| e
| — 65 ’,O-L : &l::l_—/ﬂ
N— B e 2 % \\%
o
(3]
=

42.36(1.67)

&

140(5.51)
117(4.61)

228.6(9.00)

LER L

s
N
- %

¢ 152.4(6.00) o5

£
e

i
J

4- ¢ 22(.86) HOLES
$39(1.54) SPOTFACER
1 DEEP

HYSTAR ® system™. Hyking Corp. ©2002 144




Assembly and Parts List

HQ215,225,315,325,425,435 Series

‘ DOUBLE PUMP PARTS LIST

No. 2 No. 3 No. 11 No. 12 No. 8 No. 13 No. 15 No. 16
Model )

Seal |Bearing |0-Ring & Endless| O-Ring & Endless| For Cover | For Housing Endles | O-Ring & Endless | O-Ring & Endless

Back-Up Ring Back-Up Ring O-Ring Back-Up Ring Back-Up Ring Back-Up Ring
HQ215 | 30x52x11 | 6205zz P46 90.2x3.5 G100 G85 71.5x3.5 P36
HQ225 | 30x52x11 | 6205zz P46 90.2x3.5 G100 G100 90.2x3.5 P46
HQ315 | 35x72x12 | 6207zz 65.5x3.5 G115 G135 G85 71.5x3.5 P36
HQ325 | 35x72x52 | 6207zz 65.5x3.5 G115 G135 G100 90.2x3.5 P46
HQ425 | 50x85x10 | 6209zz G80 G130 G140 G100 90.2x3.5 P46
SHQ215 | 30x52x11 | 6205zz P46 90.2x3.5 G100 G85 71.5x3.5 P36
SHQ425 | 50x85x10 | 6209zz G80 G130 G140 G100 90.2x3.5 P46
SHQ435 | 50x85x10 | 6209zz G80 G130 G140 G135 G115 65.5x3.5
ad HYSTAR ® system™. Hyking Corp. ©2002




	128
	�¶�±  1

	129
	�¶�±  1

	130
	�¶�±  1

	131
	�¶�±  1

	132
	�¶�±  1

	133
	�¶�±  1

	134
	�¶�±  1

	135
	�¶�±  1

	136
	�¶�±  1

	137
	�¶�±  1

	138
	�¶�±  1

	139
	�¶�±  1

	140
	�¶�±  1

	141
	�¶�±  1

	142
	�¶�±  1

	143
	�¶�±  1

	144
	�¶�±  1

	145
	�¶�±  1


